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=) e | BV |mmmx| @ | B0 |mmax| @ | B [mems] @& | B |mammx| @ | By [mass] @ | B |mems] G | B0 |mmmr| @ | B0 |summs| @ | B |msms] /| BV |mmms
LA 0.40 [ssaL|®anL]| 0.40 | Rl mEnL| 0.40 [aEaL|muaL] 0.40 |R#aL|fsal| 0.40 |REnL|fEneL] 0.40 [iwaL|fanal] 0.40 |Rsnl|mEnt] 0.40 [l mwaL] 0.40 |saaL]|ann] 0.40 |weznL| sz 0.40
Rl 0.40 |l 0.40 [l ®inL] 0.40 Rl muaL| 0.40 [RuaL|gial] 0.40 |RuaL]muaL| 0.40 [RuaL il 0.40 |REal|maaL| 0.40 |RuaL| iz 0.40 |Ruac|muaL] 0.40 |rmaL gzl 0.40
BHRL 0.40 [ssaL|®anL]| 0.40 | Rl mEnL| 0.40 [aEaL|muaL] 0.40 |R&aL| sl 0.40 |REnL|fEneL] 0.40 [iwaL|fanl] 0.40 |Rsnl|mEnt] 0.40 [l mwaL] 0.40 |saaL]|®ann] 0.40 |wsznL| w2 0.40
Rl 0.40 sl el 0.40 [RumaL|®inl] 0.40 RuaL|muaL| 0.40 [RuaL®ial] 0.40 |RiaL]muaL| 0.40 [RuaL il 0.40 |REaL|muaL| 0.40 |RuaL| iz 0.40 |REac|muaL| 0.40 |rmaL gzl 0.40
LA 0.40 [ssaL| ®anL]| 0.40 |REnL|mEnL| 0.40 [aEaL|muaL] 0.40 |RanL| sl 0.40 |REnL|fEneL] 0.40 [iwaL|fanl] 0.40 |Rsnl|mEnL] 0.40 sl mwnaL] 0.40 |saaL|ann] 0.40 |wsznL|mszL| 0.40
Rl 0.40 |eamL| el 0.50 (el ®inL] 0.40 |RunL|muaL| 0.40 [RuaL®ial] 0.40 |RuaL]muaL| 0.40 [RuaL il 0.40 |REal|muaL| 0.40 |RuaL| gz 0.40 |REac|muaL] 0.40 |rmaL sl 0.40

0.40 [ssaL|®anL| 0.40 |REnL|mEnL| 0.40 [aEaL|muaL] 0.40 |RanL|fesl| 0.40 |REnL|fEneL] 0.40 [iwaL|fanal] 0.40 |Rsnl|mEnt] 0.40 [l mwaL] 0.40 |saaL]|®ann] 0.40 |weznL| sz 0.40

0.40 |l sz 0.40 PR EZ2LL 0.40 |RFERL 8ERLL 0.40 |=HEaL] el 0.40 |RE2aL] 22Ul 0.40 |REARL 22Ul 0.40 |BERLIERZL] 0.40 |RFERLIREZL 0.40 |52 ERLL 0.40 =% #F2L] 0.40

0.40 |FELLIEERL] 0.40 |RERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL]#E2RLl 0.40 |REaL|RERLl 0.40 |RERL EE2L] 0.40 |RERLIREZL] 0.40 |RERL|RERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#E2RL] 0.40

0.40 |FRL % RL] 0.40 |RFERL 2EZLL 0.40 |R=FRL[BERLL 0.40 |RHEaL]| el 0.40 |RwaL] 2L 0.40 |REARL|EE2L] 0.40 |RERLIEZL] 0.40 |RFERLIREZL 0.40 SRR 2E2LL 0.40 |22 #F2L] 0.40

0.40 |ERLIRERL] 0.40 |RERL|RERLL 0.40 |RERLIRERLL 0.40 |RE2aL]#E2RLl 0.40 |REaL|RERLl 0.40 |RERL| RE2L] 0.40 |RERLIREZL] 0.40 |RERL|RERL 0.40 [RERL RERLL 0.40 |R=#E2L|#E2RLl 0.40

0.40 |FRL % RL] 0.40 |RFERL #E2LL 0.40 |R=FRL[BERLL 0.40 |RHEaeL] L] 0.40 |RwaL] 2L 0.40 |REEARL|EE2L] 0.40 |RERLIEZL] 0.40 |RFERLIREZL 0.40 SRR 2E2LL 0.40 |22 #F2L] 0.40

0.40 |FERL EERL] 0.50 |RERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL]#E2RLl 0.40 |REaL|RERLl 0.40 |RERL| RE2RL] 0.40 |RERLIRFEZL] 0.40 |RERLIRERL] 0.40 [RERL RERLL 0.40 |R=#E2L|#ERL] 0.40

0.40 | HERL] 0.40 |RFERL REZ2LL 0.40 |R=FERL[BERLL 0.40 |RHEaL] L] 0.40 |REaL] 2L 0.40 |REARL EE2L] 0.40 |RERLIEZL] 0.40 |RFERLIREZL 0.40 |5l 2E2Ll 0.40 |22 #F2L] 0.40

0.40 |FERL RERL] 0.40 |RERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL]#ERLl 0.40 |REaL|RERLl 0.40 |RERL| RE2L] 0.40 |RERLIEEZL] 0.40 |RERL|RERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#ERLl 0.40

0.40 |RFRL % RL] 0.40 |SRFERL #EZLL 0.40 |R=FRL[BERLL 0.40 |RHEaL] L] 0.40 |RwaL] 2L 0.40 |REARL| EE2L] 0.40 |RERLIERZL] 0.40 |RFERLIREZL 0.40 || 2E2LL 0.40 |22 #F2L] 0.40

0.40 |FERLIEERL] 0.40 |RERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL]#E2RLl 0.40 |REaL|RERLl 0.40 |RERL| RE2L] 0.40 |RERLIRFEZRL] 0.40 |RERLIRERL] 0.40 [RERL RERLL 0.40 |R=#E2L|#ERL] 0.40

0.40 |RERL %L 0.40 |RERL REZLL 0.40 |R=FERL[BERLL 0.40 |RHEaL] L] 0.40 |R%aL| R 2Ll 0.40 |RERL RE2eL] 0.40 |RERLIERZL] 0.40 |RFERLIREZL 0.40 R RERLL 0.40 |22 #E2L] 0.40

0.40 |RERLRERL] 0.40 |RERL|RERLL 0.40 |RERLIRERLL 0.40 R #ERLl 0.40 |RE2L|RERLl 0.40 |RERL | SE2L] 0.40 |RERLIAFZL] 0.40 PRERLIRERL] 0.40 [RERL RERLL 0.40 | R=#E2L|#E2RLl 0.40

0.40 |RERL %L 0.50 |RERL|REZRLL 0.40 |R=FERL[RERLL 0.40 |REaeL] L] 0.40 |R%aL| R 2Ll 0.40 |REARL| RE2L] 0.40 |RERLIRERZL] 0.40 |RFERLIREZL 0.40 R 2L RERLL 0.40 |22 #E2L] 0.40

0.40 |ERLIRERL] 0.40 |RERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL]#E2RLl 0.40 |RE2L|RERLl 0.40 |RERL SE2L] 0.40 |RERLIAHEZL] 0.40 PRERLIRERL 0.40 [RERL RERLL 0.40 | R=#E2L | #E2RLl 0.40

0.45 PRERLI %L 0.40 |RERL REZLL 0.40 |R=FERL[RERLL 0.40 |RHEaL] L] 0.40 |R%aL| Rl 0.40 |RERL| EE2eL] 0.40 |RERLIERZL] 0.40 |RFERL REZL 0.40 R R RERLL 0.40 |22 #E2L] 0.40

0.40 |ERLRERL] 0.40 PRERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL]#ERLl 0.40 |RE2L|RERLl 0.40 |RERL SE2RL] 0.40 |RERLIAHZL] 0.40 |RERLIRERL 0.40 [RERL|RERLL 0.40 |R=#E2L|#E2RLl 0.40

0.40 |ERL %L 0.40 |RERL REZRLL 0.50 |R=FERL[RERLL 0.40 |REaL] L] 0.40 |REaL] 2Ll 0.40 |RERL| RE2eL] 0.40 |RERLI 2L 0.40 |RFERL REZL 0.40 R R RERLL 0.40 |22 #E2L] 0.40

0.40 |FERL RERL] 0.40 PRERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL]#ERLl 0.40 |RE2L|RERLl 0.40 |RERL SE2RL] 0.40 |RERLIAEZL] 0.40 PRERLIRERL] 0.40 [RERL|RERLL 0.40 | R=#E2L|#E2RLl 0.40

0.40 |RERL %L 0.40 |RERL REZRLL 0.40 |R=FERL[RERLL 0.40 |RHEaeL] el 0.40 |R%aL| 2Ll 0.40 |RERL| EE2L] 0.40 |RERLIERZL] 0.40 |RFERLIREZLL 0.40 R 2L RERLL 0.40 |R=#E2eL|#E2L] 0.40

0.40 |RFERLIRERL] 0.45 |RERL|RERLL 0.40 |RERLIRERLL 0.40 |2 #ERLl 0.40 |RE2L| RERLl 0.40 |RERL SE2RL] 0.40 |RERLIAHZL] 0.40 PRERLIRERL] 0.40 [RERL RERLL 0.40 |R=#E2L|#E2RLl 0.40

0.40 |FERL EERL] 0.40 |RERL|BERLL 0.40 |R=ERLIRERLL 0.40 |2 #ERLl 0.40 |REaL| B2l 0.40 |REARL| RE2L] 0.40 |RERLI AL 0.40 |RFERL RERL] 0.40 |RERL|RERLL 0.40 |R=E2L|#ERLl 0.40

0.40 | aL %zl 0.40 PRERL RERLL 0.40 |RERL RERLL 0.40 |R#EaL]fE2RLl 0.40 |R&E2LRERLl 0.40 |RERL RE2RL] 0.40 |RERLIRRZL] 0.40 PRERLIREZRL 0.40 |SRERL RERLL 0.40 |R=%E2L|#E2L] 0.40

0.40 pEFERL EEARLL 0.40 |REARLIRERL] 0.40 |BERLUIRERLL 0.40 |BERL &EEZLL 0.40 |RERLIRFERL] 0.40 [RERLEEAZLl 0.40 |REARL #ERL] 0.40 |RERLIEERL] 0.40 |RERL|EE2L] 0.40

L saEsL 0,40 L L] 0.40 |azeL | ®azeLf 0.40 sz B 0.40 sEzeL B 0.40 | R RazeL] 0.40

0.40 0.41 0.40 0.40 0.40 0.40 0.40 0.40 0.40 0.40 0.40
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=) e | BV |mmmx| @ | B0 |mmax| @ | B [mems] @& | B |mammx| @ | By [mass] @ | B |mems] G | B0 |mmmr| @ | B0 |summs| @ | B |msms] /| BV |mmms
LA 0.40 [ssaL|®anL]| 0.40 | Rl mEnL| 0.40 [aEaL|muaL] 0.40 |R#aL|fsal| 0.40 |REnL|fEneL] 0.40 [iwaL|fanal] 0.40 |Rsnl|mEnt] 0.40 [l mwaL] 0.40 |saaL]|ann] 0.40 |weznL| sz 0.40
Rl 0.40 sl el 0.40 [l ®inL] 0.40 |RunL|muaL| 0.40 [RuaL|gial] 0.40 |RuaL]mmaL| 0.30 [RuaL i) 0.40 |RiEac|mmaL| 0.40 |RuaL| gz 0.40 |REac|muaL] 0.40 |rmaLgssa0] 0.40

Bl 0.40 |RFERL EEaL] 0.40 |RERL|RERLL 0.40 |R=ERLIRERLL 0.40 |RE2RL|#ERLl 0.40 |REaL|BERLl 0.40 |[REARL| RE2L] 0.40 |RERLIEHEZRL] 0.40 |RERL RERL] 0.40 |RERL|RERLL 0.40 |R=E2L|#ERLl 0.40
HETRL 0.40 |&FRL | ®RERL] 0.40 |RERL 8ERLl 0.40 |[R%2L[RE2eL] 0.40 |RERL[RERLL 0.40 |RERLIRERL] 0.40 |REARL#ERL] 0.40 |3ERL BERLl 0.30 |R%2L[RE2L| 0.40 |RERLEERLL 0.40 |RHERLIRERLL 0.40
Bl 0.40 |RFERLIEERL] 0.40 |RERL|RERLL 0.40 |R=ERLIRERLL 0.40 |RE2L]#ERLl 0.40 |REaL|BE2Ll 0.40 |REARL| RE2L] 0.40 |RERLIEHEZRL] 0.40 |RERL RERL] 0.40 |RERL|RERLL 0.40 |R2E2L|#ERL] 0.40
E e 0.40 |#FERL | ®ERL] 0.40 |RERL BERLl 0.40 |R%2L[RE2RL 0.40 |RERL[RERLL 0.40 |RERLIRERL] 0.40 [RERL|#ERL] 0.40 |SERL 8ERLl 0.40 |R%2L[RE2Ll 0.40 &L RERLL 0.40 |RHERLRERLL 0.40

0.40 |FERLIEERL] 0.40 |RERL|RERLL 0.40 |R=ERLIRERLL 0.40 |RE2aL|#ERLl 0.40 |REaL|BE2L] 0.40 R EARL| RE2RL] 0.35 |RERLI AL 0.40 |RERL EERL] 0.40 [RERL|RERLL 0.40 |R=E2L|#ERLl 0.40

0.40 |l sz 0.40 PR EZ2LL 0.40 |RFERL 8ERLL 0.40 |=HEaL] el 0.40 |RE2aL] 22Ul 0.40 |REARL 22Ul 0.40 |BERLIERZL] 0.40 |RFERLIREZL 0.40 |52 ERLL 0.40 =% #F2L] 0.40

0.40 |FELL EERL] 0.40 |RERL|RERLL 0.40 |RERLIRERLL 0.40 |RE2aL]#ERLl 0.40 |REaL]RE2RLl 0.35 |RERL| RE2eL] 0.40 |RERLIAEZRL] 0.40 |RERL RERL] 0.40 [RERL RERLL 0.40 |R=#E2L|#ERLl 0.40

0.40 |FERL RERL] 0.40 |RERL|RERLL 0.50 |R=ERLIRERLL 0.40 |REaL]#E2RLl 0.40 |REaL|RERLl 0.40 |REARL RE2L] 0.40 |RERLIEFEZL] 0.40 |RERLIRERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#ERL] 0.40

0.40 |FERLIEERL] 0.40 |RERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL]#E2RLl 0.40 |REaL|RERLl 0.40 |RERL| RE2L] 0.40 |RERLIEEZL] 0.40 |RERL|RERL] 0.40 [RERL RERLL 0.40 |R=#E2L|#E2RL] 0.40

0.40 | %L 0.40 |RFERL RE2LL 0.40 |R=F2RL[BERLL 0.40 |RHEaL] L] 0.40 |RwaL] 2L 0.40 |REARL| EE2L] 0.40 |RERLIERZL] 0.40 |RFERLIREZL 0.40 SR e[ 2E2LL 0.40 |22l 0.40

0.40 |FERLIEERL] 0.40 |RERL|RERLL 0.40 |RERL RERLL 0.40 |REaL]#E2RLl 0.40 |REaL|RERLl 0.40 |RERL| RE2L] 0.40 |RERLIAFEZL] 0.40 |RERLIRERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#ERLl 0.40

0.40 | aLHEaL] 0.40 |RFERL #EZ2LL 0.40 |R=F2RL[BERLL 0.40 |RHEaL]|#EeL| 0.40 |RwaL] 2L 0.40 |REARL EE2L] 0.40 |RERLIERZL] 0.40 |RFERLIREZL 0.40 || 2ERLL 0.40 |22 #F2L] 0.40

0.40 |FELL EERL] 0.40 |RERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL]#E2RLl 0.40 |REaL]RE2RLl 0.30 |RERL RE2eL] 0.40 |RERLIREZL] 0.40 |RERL RERL] 0.50 [RERL|RERLL 0.40 |R=#E2L|#ERL] 0.40

0.40 | HERL] 0.40 |RFERL REZLL 0.40 |R=FERL[BERLL 0.40 |RHEaL] L] 0.40 |RwaL] &L 0.40 |REARL|EE2L] 0.40 |RERLIERZL] 0.40 |RFERLIREZL 0.40 || 2E2LL 0.40 |R=#2eL| 2L 0.40

0.40 |FERLIEERL] 0.40 |RERL|RERLL 0.40 |RERL RERLL 0.40 |REaL]#ERLl 0.40 |RE2aL|RERLl 0.40 |RERL|RE2L] 0.40 |RERLIRFEZRL] 0.50 |RERLIRERL] 0.40 [RERL RERLL 0.40 |R=#E2L|#ERL] 0.40

0.40 |RFRL % RL] 0.40 |SRFERL BE2LL 0.40 |R=FERL[BERLL 0.40 |RHEaL] L] 0.40 |R%aL| 2L 0.40 |REARL|EE2L] 0.40 |RERLIERZL] 0.40 |RFERLIREZL 0.40 SR e 2E2Ll 0.40 |22l #F2L] 0.40

0.40 |FERL RERL] 0.40 |RERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL]#ERLl 0.40 |RE2L|RERLl 0.40 |RERL SERL] 0.40 |RERLIAFZL] 0.40 PRERLIRERL 0.40 [RERL RERLL 0.40 |R=#E2L|#E2RLl 0.40

0.40 | RL % AL] 0.50 |RERL REZRLL 0.40 |R=FERL[RERLL 0.40 |REaL] L] 0.40 |R%aL| R 2Ll 0.40 |REARL| EE2L] 0.30 |RERLIERZL] 0.40 |RFERL RERL 0.40 R e[ RERLL 0.40 |22 #E2L] 0.40

0.40 |ERLRERL] 0.40 PRERL|RERLL 0.40 |RERLIRERLL 0.40 |2 #E2RLl 0.40 |RE2L|RERLl 0.40 |RERL SE2L] 0.40 |RERLIAHZL] 0.40 PRERLIRERL 0.40 [RERL RERLL 0.40 | R=#E2L|#E2RL] 0.40

0.45 PRERL %L 0.40 |RERL RERLL 0.40 |R=FERL[BERLL 0.40 |RHEaL] L] 0.40 |R%aL] Rl 0.40 |RERL| EE2L] 0.40 |RERLIERZL] 0.40 |RFERL REZL 0.40 R RERLL 0.40 |R=#E2eL|#E2L] 0.40

0.40 |RERLRERL] 0.40 PRERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL]#E2RLl 0.40 |RE2L|RERLl 0.40 |RERL | SERL] 0.40 |RERLIARZL] 0.40 PRERLIRERL 0.40 [RERL RERLL 0.40 | R=#E2L|#E2RLl 0.40

0.40 |RERL %L 0.40 |RERL REZLL 0.40 |R=FERL[BERLL 0.40 |RHEaeL] L] 0.40 |R%aL] Rl 0.40 |RERL| EE2L] 0.40 |RERLIERZL] 0.40 |RFERLIRERLL 0.40 R 2L RERLL 0.40 |22 #E2L] 0.40

0.40 |RFERLRERL] 0.40 PRERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL]#ERLl 0.40 |RE2L|RERLl 0.40 |RERL SERL] 0.40 |RERLIAFZL] 0.40 PRERLIRERL 0.40 [RERL RERLL 0.40 | R=#E2L|#E2Ll 0.40

0.40 |RERL %L 0.40 |RERL REZLL 0.40 |R=FERL[RERLL 0.40 |REaeL] L] 0.40 |R%aL| 2Ll 0.40 |RERL EE2L] 0.40 |RERLIERZL] 0.40 |RFERL REZL 0.40 R 2L RERLL 0.40 |22 #E2L] 0.40

0.40 |ERLRERL] 0.40 PRERL|RERLL 0.40 |RERLIRERLL 0.40 |REaL] 2Rl 0.40 |RE2L| RERLl 0.40 |RERL SERL] 0.40 |RERLIAHZL] 0.40 |RERLIRERL] 0.40 [RERL RERLL 0.40 |R=#E2L|#E2RLl 0.40

0.40 |ERL EEaL] 0.40 |RERL|BERLL 0.40 |R=ERLIRERLL 0.40 |2 #ERLl 0.40 |REaL| B2l 0.40 |RERL| RE2L] 0.30 |RERLIRWAL] 0.40 |RFERL RERL] 0.40 |RERL|RERLL 0.40 |R=#E2L|#ERLl 0.40

0.40 pe#aL %zl 0.40 PRERL REZRLL 0.40 |RERL RERLL 0.40 |R#EaL]f#E2RLl 0.40 |R%E2LRERLl 0.40 |RERL RE2L] 0.40 |RERLIRRZL] 0.40 PRERLIREZRL 0.40 |SRERL RERLL 0.40 |R=#E2L|#E2L] 0.40

0.40 pEFERL EEARLL 0.40 |REARLIRERL] 0.40 |RERLUIRERLL 0.40 |RERL &EEZ2LL 0.40 |RERLIRFERL] 0.40 [RERL | EEZLl 0.40 |REARL #ERL] 0.40 |RERLIEERL] 0.40 [RERLEE2L] 0.40

L s 0.40 L] 0.40 |azeL | mazeLf 0.40 sEzL| Bl 0.40 sEzeL B 0.40 | R RazeL] 0.40

0.40 0.40 0.40 0.40 0.40 0.39 0.39 0.40 0.40 0.40 0.40
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=) e | BV |mmmx| @ | B0 |mmax| @ | B [mems] @& | B |mammx| @ | By [mass] @ | B |mems] G | B0 |mmmr| @ | B0 |summs| @ | B |msms] /| BV |mmms
LA 0.50 [stsaL]| ®aaL| 0.50 |REnt|mEnL| 0.50 [awaLmuaL] 0.50 [RanL|fesl| 0.50 |REnL|fEneL] 0.50 [iwaL]|fanaL] 0.50 |Rusnr|mEn] 0.50 [zl mwaL] 0.50 [saaL]|ann] 0.50 |wEn|wszL| 0.50
Rl 0.50 szl szl 0.50 [l ®inL] 0.50 |RunL|muzL 0.50 [RuaL|gial] 0.50 |RiaL]mmaL| 0.50 [#uaLgisn] 0.50 |#iaL|mmaL| 0.50 |RuaL i) 0.50 |#Eac|muaL| 0.50 |rmaLgssae] 0.50
BHRL 0.50 [stsaL]| ®aaL| 0.50 |REnL|mEnL| 0.50 [aEaL|muaL] 0.50 |R#nL|fesl| 0.50 |REnL|fEneL] 0.50 [iwaL|fanl] 0.50 |Rsnr|mEnt] 0.50 [l mwaL] 0.50 [saaL]|aan] 0.50 |wEnL|wszL| 0.50
Rl 0.50 szl szl 0.50 [z ®inL] 0.50 [®inL|muaL 0.60 [RuaL|®ial] 0.50 |RiaL|muaL 0.50 [#uzaLgia] 0.50 |#iaL|mmaL| 0.50 |RuaL i) 0.50 |REaL|mwaL| 0.50 |rmzaL|gssae] 0.50
LA 0.50 [stsaL|®aaL| 0.50 |REnL|mEnL| 0.50 [aEaL|muaL] 0.60 |RanL|fesnl| 0.50 |REnL|fEneL] 0.50 [iwaL|fanl] 0.50 |Rsnr|mEn] 0.50 [l mwaL] 0.50 [saaL]|®Enn] 0.50 |RmEnL|wszL| 0.50
Rl 0.50 szl szl 0.50 [l ®inL] 0.50 RunL|muzaL 0.60 [RuaL|®iaL] 0.50 |RiaL]muaL 0.50 [RuaL|gia] 0.50 |#iaL|mmaL| 0.50 |RuaL i) 0.50 |REaL|muaL] 0.50 |rmsaLgssae] 0.50
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